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Zugkgh'p htnbitbwy twpunwumphiiubpp unwpty opekyngd
fuoupp np wyu ophu jp tljwpugpt Akp quirwlyp:

bu quiulju...

1 Cwpdnudny hkwnwppppniphit jud nipunpniphi jp
qpuaik:

2 Utunynp jud wthwunwn duyuh §p wunwupiwutk
(4Eptrh pkYp uifutioy Gund sh jubp):

3 Up dywunh jud juuntwinp Yp uygh mphoubpnite

4 Nuunwupiwb Ynt g Epp wuntup Yp Yubsnth:

5 Up htwwppppnth niphy tpEjuwtitpnt hbn pwnuy:

6 Up uhpk hpwp dkpp ubnub) ud «thhp-w-yn» pwunuy:

7 Niphoutpnit htwn Yp jwpuwpkph jupyustinyg,
owipdnidubkpny juouhy, ud wpunwjwjinniphi thnjubny:

8 Yuluntuunp b jupbwpniptudp gnuk Eptp pun 4p
gnpéwsk:

9 N&ny hp uoup (ophtiwljh hudwp Jup nnt'p, «ujury-uyu»
qluuy):

10 Up jutinuy Epp niphoubpp e

Swiljuiht sk
0

Swiljutht sk
2

Swiljutht sk
0

Swiljutht sk
0

Swiljutht sk
0

Swiljutht sk

0

Swiljutht sk
0

Swiljutht sk
0

Swiljutht sk
0

Swiljutht sk
0

Gppldu

Bppld

Bppld

Gpplidu

Gpplidu

Bppld

Bppld

Bppld

Gppld

Gppldt
1

Ujn

Ujn

Ujn

Ujn

Ujn

Ujn

Ujn

Ujn

Ujn

Ujn

TOTAL

© 2020-2030 Rutgers, The State University of New Jersey. All rights reserved. Do not copy or reproduce without permission.


© 2020-2030 Rutgers, The State University of New Jersey.  All rights reserved. Do not copy or reproduce without permission.

0                           1                  2

0                           1                  2
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